i)

13) 864 : 24 14) 1242 : 46 1h) 43461 : 162
3280 : 45 18611 37 61009 : 247
5264 : HH 66H22 - 94= £19633 : 309

728 : 36 23166 : 83= 929262584 : 604=
1008 : 25 7332306 : 98= 2840453 : 997
16) 2345 : 63 =37T"22 17) 80256 : 200
4556 34773 : HRI=
140 641081 : 954
140 ¥33502 : 1937-
18) 98174 : 354= +19y H6037 : 27D
04417 : 268= 23496 *+ HO2
104016 : 197 = 910473 : 867
310600 : 476= 7924118 : 588
6751269 : 180 2844092 : 764
20)) 1650455 : S05H1 = +91) K7805431
1n409835 : 230o= 103530902 : 327
7920 : 2192 71066428 : b4
QRS 2006 20733079 ;: 66D
5000 : D3TH 2006604042 : H3402=
THORBNA 1 TH4S 18929420230 : 46805
22) 1340 : 20 23) 37806 ¢ 6000-=
8767 : al= 7R0213 ;. 8100
21500 ; d00 241706 ¢ 1580
98053 : 150 Bl1600 2400
{49280 : 130= {7035 TT30-
119140 : 230 13953000 : 1300
152600 ; 350 83125733 : 16500
180920 : 8H)- 37190536 : a3700
b.
94) Wie wird eine Decimalzabl durdh 10, 100, 1000 ..,
bivibiert
95) 26) 27)
7842 10 2074 100 6hns1 1 OO0
8007 10 136D 100= 24-217 1000
2645 10 239:41 100= 5659 1000 =
(308 10) 18-207 1) = 231415 10000 =




